Pre-Final Examination- 2023
H.S. 2nd Year
Subject : Physics

Full Marks : 70 Time : 3 hrs.
1. Answer the following questions. 1x10=10
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a) For an electron in the 2nd orbit of hydragen wahta is the
angular momentum as per Bohr’s atomic model.
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b) What do you mean by wattless curent.
AGREI @12 JfeTe fF g 2
¢) Which series of hydrogen spectrum is in UV region.
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d) State snell’s law.
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¢) What is power factor in an LCR circuit at resonance.
LCR ST #ARIST 2/2d Sl 8o i {52
f) The work function of a naterial depends on-
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i) Intensity of light ii) Frequency of light
(PR AI<e] (ARIT F>iAIT
iii) Use material vi) None of these
IIZ© T G518 =T
g) At resonance frequency the impedence in series LCR
uiruit is-
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i) Maximum ii) Minimum
A A=
iii) Zero ' vi) Infinity
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h) Which of the following phenomenon is not obserned in
case of sound wave.
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i) Reflection ii) Refraction
effoFeT o=
iii) Interference vi) Polarization
i) Define mutual inductance of 1 Henry.
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7) Semi conductors of both p-type and n-type are pfoduced by
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i) Tonic solids S S e
ii) Metallic solids Qo] o opiefe

iii) Covalent SR oo 2iniefe
iv) All of these )
Answer to the following question.
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a) Calculate the resistance bet' Aand B
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b) An image is plaud 30 Zﬂ:haWay _ff_Om a concave lens of
focal length 15 ¢ Find the position, size and nature of

the image-. '
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¢) Write down the relation between minimum deviation and
refractive index.
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d) Draw a ray diagram to show the function of final image
atleast distance of distince vision by a compound microscope.
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¢) Write down the difference bet" n-type and p-type semi-
conductor.
n- SIS I p- ST o #ARRIFE e i<l =)
f) Write down Einstein’s photo electric eq® and then explain
the concept of threshold frequency.
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With reference to the circuit shown in fig. Find the following. 3

1) Current flowing throvgh A.
ii) Potential difference across the paralle combination.

iii) Current flowing through B and B
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ot g 1o L for a convex lens. 3
Deduce the relation v~ U f .
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J a canvave lens of final length 0.1 each are
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of the convex lens.
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~rical surface establish the following

apart. Find the position of the image
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Find the expressian of fringe width B= 50 for Young’s

double slit interference. Pattern, where 2d is the separation
bet® the two coherent sources. 4
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Short Note. (Any two) X
SaCor forat (RTPIet 7o)

i) Stopping potential (=S =)

ii) Displacement current (73 #112)

iv) Half-wave rectifier (S5 fW<i)
Explain the characteristics of P-n junction diode. 5
P-n SR OIS T (SRRSO w1
A Source of emf V_sinwt is connected in serice with an
:nductor L capacitor C and resistor R. Calculate the
impedence and resonant frequency of a circuit. Also write an
application of the resonant circuit. 3+1+1=5
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Write the Bohr’s postulates, The radius of the innermost
electron orbit of a hydrogen atom 15 5.3x10"" m. What are
the radit of the n=2 and n=3 orbits- WoBH=S
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3x2=6
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